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PART - A

Choose the correct answer'

1. Sum of diagonal elements of a matrix gives

Max. Weightage : 30

a) Rank b) Trace c) Determinant d) None

2. Qost is minimum when

a) fr=o

s. J3x'ox

a) x3+c b)6x+c c)f*t*c d)none
2

4. Amatrix with non-zero determinant is called

a) Singular matrix b) Non-singular Matrix

c) ldempotent Matrix d) ldentity Matrix
(Bunch Weightage 1)

b) ff'o c) both

Ir 2l
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a)2 b) -2 c)0 d)5
P.T.O.
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6. Matrix muttiplication is
a) Commutative b) Distributive c) Associativefr otal It' lo 1J ''
a) Diagonal matrix
c) Both

8. [o*t -6where f (0) = g

a) x4-6x+c b) xo-6x+S

b) fdentity Matrix
d) None

c) 12xz
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d) a) and c)

d) None
(Bunch Weightage 1)PART - B

Short answer. Write any 10 questions.
9. fdempotent matrix.

10' show that matrix murtipfication is distributive.
1 1' Exprain integration as reverse process of differentiation.
12., 

Jxe"dx.

rA lexsf lo slte' 
/a *l=le sf ' tino *'

14. Find the minimum value of the cost function
c(x)=5+2x2-xs.

15. Verify lAl = lArl.
16. Eigen value.
17. Find total revenue, if Marginaf Revenue is 4x.18' Exprain producer surpfus using the concept of integration.
19. Explain integration by substitution.

Ir 2 sl
zo' 

lz o si . e*or"in using properry of determinant.

lz46l
(Weighrage 1xl0=10)
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PART - C

Short Essay. Answer any five questions'

21. Uses of integration in economics.

22. Explain properties of determinant'

29. lt q"=100 - 8q, Find total revenue if q = 10'

24. Explain the conditions for maxima and minima'

r125' Jtz*rog*xd"

26. Explain the methods of integration'

27. show that A = |-1 1-1 satisties the equation ff - 3A -71=0.
L-r -zJ

(Weightage 2x5 =10)

PART _ D

Long Essays. Answer any 2 questions'

28. ltD = 250-50 P and s --25P +23aredemand and supplyfunctions'

Find consumers and producer's surplus'

29. AManufacturer can sett x items at a price at rupees (t - #) each'
lu \

Cost price of x item is Rs. I l + SOO | .

\5)
Find the number of items to be sold to maximise profit.

30. Solve the following system of equations'

X+Y+Z=6
2Y +52=-4
2x+5y-z=-27

31. Using Integration by parts , [*' logx dx (Weightage 4x2=8)


